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Arecmwar 2] qussticns,

Selex the respomse thet conteing nn]y?mnm::ahlndrsma
11 AIDS, Chreaic renal disssa, Canesss

I) AIDS, Covid 19, Dengas i

3) Diabstes, Henot dicepens, Dengne

4) Heart disenses, Covid 19, Cangers
E}AJJ}S,Dmgmc_Diab:t:s

Belect &:mmﬁm.ﬂu—mq

1) There se ehont 100 millitn b ove L&W:ﬂ!mufhmgq:ﬂmmﬂnwuﬂi

2) Sostaingble food prodnction i the produstion of srfdent mmount of food For the homen popaizticn

2) Ondx and orgeiteation 1= 00! mn eszential ti:l.aremnsuu of prgenism o pm‘ﬁnnlincdrbmiegm
activisies sfficisatly. .

£ All orgrmicms begin their R bs ¢ frgle cell. < e ; %

Ehsnmﬂmhm;mmﬁshmaﬂﬁrmmmm:sufmm ; ;

Sﬂﬂﬁumm y
1) Around 23% of elemenis am essestiz] o continns healthy fifs snd reendnction,
) Ammdl!ﬁmmmtsﬂwmﬂidfarmusmdmﬂ%of&mmmrp‘m
3) Ce P, K end 8 mekeup 4 % of the mast of the organiem.
- 4) Mg CI, Mg, B, Co, Eu.&.rlnadfnsmﬂ]eslmmwhlchsﬂnﬂyﬁwndmhmmmm
Erunt

5 Dr;gm, Carbom, Eﬁr&ummdﬂmngmmmﬁmm ubmd:n;dma:hvmgmzﬁn‘

Select the incarrect statement ont the water '
1) Wmumhcdsnlmﬂ.pdmmdmdnmuhmh
] wmmm&:h@ammdmmemmmpdummmnf
-ﬁmmmkml:nhu#nssh'dmgmm
3} Whmmnmuhﬂqm&:mﬁshfdmgmbmdsmmmmmmmmq
4) Mbﬁwmmmhﬁlﬁmﬂud!wﬂsﬁdpsmmﬂn’:ﬂmufwmunﬂmuhn
* substomesy,
"5 Dunh'ﬂ:nlnghhmaqu;amnﬂury.ﬂmmmlerhﬂma b

Mnf&bcﬁ:uuwmgmmmgs:dingihcmbuhy&aﬂtmﬁ: kmgm:p'?
£} Ttis = stmcture] eompommd i plent ool wall.
Z) Itma;mmmgamﬂpnmdmﬁmp ; A s .
3) It contmms i germiiesing cesds. -
3 nmbuqhum:ahyhymmammmmhmmm o=
5 hhamimmnﬁmm

F -
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Thich of the followmg is ot reievant REECIE e, isacrkouidss IREE5
TIONOMCE aoits?

1) Storage sega in roifk

) Traaglocation in phlosm.

3} Storage segar i SUZEFCERS stems

4} Masin easrgy souree in animals

5) When it is hydrolyzed, Prosomer neit of Smtins SRt be obtainec.

e aap——

-..
N

|7y mmmmmmtmga&ngmsammﬁxis, .
\ 1) Fatty acids with hydrocsrbons having 0ne or more Gouble bonds. 1
2) Cis amsatorated fats contzibute for the increase of shickmess of &rtesy wells.
3) Plants contam this type of &l
4) They arme liguid in room EMpSTaTS.

|

b= ‘3}_ hmﬂﬁﬁoni@ﬁgﬁmmwnfmﬁ% fﬂﬂ:ﬁﬂﬁﬂﬁﬁdmlﬂﬂ&

Type of proteins | Fusction Example o L
y‘l)' Hormone ; | Regulate bigod gknmssﬁ:iii 7 | Gimcagon
7) | Storage |Stomdinmilk 3 | Casein
3) [Mu‘m’ lCm;EEﬂﬁﬂn ofmmscleibers Myosin
4) | Tramsport | Teansport pacleic acids Sermm albumin
5y | Catalytic | Cazlyzs biochemics! reactions - | Pepsin B
T 1 9) fncarrect sttoment regarding NADE"is

1) Oxidizing sgent in photosynthesis

2) Acts es & electron CETIer.

3) Itisacoenzyms

4) itis amuckeotids

5) Oxidizing agentin celipler respiration

10) huﬁﬁimzagﬁdiﬂ%biﬂagiﬂalcompﬁﬁﬂﬁﬂis" ,
- 1) Al the monosecchesides o edncing sugar and weter soluble o (=
7) Ali the biological compounds consist of C, F, O, and N zs clemants.

3) Fatty acids end gycerol bind withi ester bonds when forming trizeylghyearol.
4) Most of enzymes have terfiery STUCHTE nf;mtﬂﬁ:ns'ﬁu{l cen heve disulphide bonds and ionic bonds.
5y ATP is a ribonueleotide with fires phosphais grotps.

i1)  Elemental composition of the main componest of the plasma membrane which is responsible for flwid

pature is ‘
1) CKOP 7 C,H, O, N ' 3) C,HONFP
4), CHN,P HCHONS

12)  Which of tbe following takes place in the telophese of mitosis?
b 1) Twe genetically identical danghter cells are producsd
2\ Sister chromatids gt as whole ChromosaTass ; |
3) Cellelopgaissas the non-kinsockhore rrcrombmles e lugthen ' =

i lr. 3 - - w Y . 1] w - st
| &) Spmale nispotaboles 22 rearmanged SROWIN RS ealt for et cell dvision
E 7y Nueien e-velope vefomns croend each s2t of chromesomEs. ' ' {
b ' :
w13y incorrect stewmsdl reparding enaymes 1S . ¥ - ¥,
* T ._...——--i-_-—-—'--'-_-""__"'___'"'__-_'___"__-_-.P__“_-'_'_‘ - . — --""l - "
1 e limag
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15)

1

18 |

19)

.

I'! %umﬁ‘&*&’ﬁfﬂ“ae- # . . o - -

'\-4. "' 1{5-'.""‘# '-'ﬁi i > .
1 P TEELOTES,
‘5} -{-";-"C' st ot ‘t-ﬁ.ﬁ E-u-més gre g.t.' :}L__E I “l-%.fs

Jz'\

4} EnbEszm*E ?th:riﬁvm. F’-T-. TeESoy grevrasi L e ‘Eﬂ the ffﬁmﬁuﬂﬂ D‘F"_‘:I"E-'Iﬂﬂ st -..-?EPIEJL.
zymes az2 highly spevific 4 e sabstrate

5} Rate of reactions can be redecsd by inlibitors,

: jflﬂh cf the %-Ie'ﬁmg pleces is mot responsibile for phosphorylation to tale ?EEW?
1} Stroma of chloroplast 2) Ihmakmd membzanes of ciloroplasts
3} Cytosol | 4) Matsix of mitochondria :

-'5) Coistae of mitochondria

Select the incorrect staterment regarding Ce photosynthesis '

1) Rubisco catalyres reactions more efciently in bundle sheath ceils than in C; plants.
2} Cslvia cycle does not t2ke pLEE: in mesephyl cells of G4 pmuts o )

3) PSIisdspleted inmesophyilcalls | - B
4) PEP carboxylase enzyme is miore efficient than Rnb:sca fnr ﬁxﬂﬂﬂn ﬂfCC'"
5) The nifrogen usage is more cfficient in Cs plents then that of G pleats. .

The Calvin cycle |

e ﬂmm‘mﬁ&pﬁmﬁs

2) must take place three timies for the net srihesfsofm (ﬂymdﬂh‘y&e S-ﬂmhaw for cne
~ glucose fiolecule. A : . .
3} reqﬁrms PEP carboxylass

4) mﬂd&c@sB—P&Aa& ﬂteﬁra'tpmdﬂct.
5} is aca%ahancr:achﬂu,

3:E}Th3tak=slzlaze ﬂlicytcsalﬁﬂﬁesem ety ' o § R, A

2} Two ATP malecu]esaren&dupfm ﬂ:emuatwestep

- 3) Glyeolysis takes place in the mesosome of Bacteriz...

4) Four hydrogen ions aad electrons roleased from one ,glﬁcx}se mnlmxl& b:eakéown redum two NAD"
: mdnro&naetwaﬁm}ﬂ. R o i ;
5) '113.15 is oxygen md‘:pﬁnﬁm p'ucﬁs.

. Lﬁsmhed pmr ragas:dm: uaﬂala: fBSPh.nuﬂﬂ mhm cans:dermg one glums ﬂlﬂlﬂcﬂi\-

1) Oxidation of pyruvate = " e SO TWGCOzmﬁieculaamrﬂinasnﬂ
- 2) Ccz‘n‘e:tingm*-at.maﬁc::ommmu i OneNADHisproduced.
3) Coiwemngmtmtamto 5C mmné e Two Cﬂhmuiemiesmmiﬂm |
4) Oxidation of pyruvats g _Two NADH are pm,ce&
5) Krebsc}rc;e . ' ' T =WOATPEndi§qunDH,garﬂpmdn:aed.

" Which of the fullaw_nc is comect ragarding d}ﬂ'm'eﬂtms;}jratmy mbs!r&tas? 5
. 1) Fatmh}'&obmmaglywal and fzity amds audmmzrtsmto acetyl ce-A and ente:s n:!ycalys&s

respectively,

e F b S

2) Whmammnaﬂésmmvm!wp}wmmﬂﬂ}h mrem::r?':d. G
. 3) Asnino acids participate by comverting only inte pyruvate,
' .4)Pymmmmdmmtmksphrﬂwhmmmmnsadaaﬁambm
'5} (ﬁymlymsdmsnnttﬁkcphm whmfzrnu .,nas lf'esubshme ;
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azid Teproduction is,

!

1 " 1) Defense ' 2) Fenilizing Fmbﬁb&t?
': 4y Production of limited pomber ﬂfuf?'p"i‘:t?: 5} Resistance &2 S
l "

\
i
o Tor each of the guesticns 21 0 35 cne o- mors of the responses is/are eom ¢, Deeide which resgunsa! |
,  Tesponsss is/zre correct oré then seiert the corvect munther, ., l

ifonly A, Bend D arz comest

ifonly A, C, and D &re comect -
If only A 2nd B ars Coment
| If only C and D ar2 only comext
i ; If 2ny other rasponse or combiztion of rasponse is comect

(TR L V5 T A B

Birections summarised

1 2 | 3 4 &

(A EBLDO) | AE.0O) - (A). (B) ©), @) ﬁ*ﬁ? Uﬂm TESPORSS OT
correct correct coment correct combinztion of

-

| : ) respanses: camrect

21) Whick of the following is comct regarding Trypsin?

‘A) This is pH ssesitive and works best at basic pH rangs.
B} Activity of s dspends @ the temperamre and ik amarmrateaffm‘amlsﬂn_‘yatcmu
temperatars.

C} This enzvine czizlyzes ks resction anly in Hving cells.

D) Substrats is hydrolyzed into faity acids by fas sctivity of this enzyme.

E) "?lsm:malcommztun oitbisenzymsis C, H, O, 1*-‘; gnd P.

e et

Which of the follmg staternent/ sterements is/are comect Fgm-dmg cetiviar organelies?
* A) The basal body which anchors the cilimmn b has 9 + { arrangement of microtubales.
B) Matrix of mitochondriz consists of phesnhmn granules and enzymes for oxidative pho sphc:yiatt{rn
C) Trans face gives rise to sexetary vesicles which will form as lysosomes.
D) Glyoxysomes &re found f storing tissuss i plamss. |
£) Rongh endoplesmic reficuftm stores C#* fons.
23)  Which of the following is correet regarding the number of ATP produced for ons glucoss moleculs? |
A) Giycolysis : 4 ATP B) Krebscycle : 2 ATP C) Elestron transport chain : 20 ATP
D) Efuyl alcohol fermentation: 2 .&IP ‘E) Celvincycle : 2 ATP
24} ©  Which one of the f'a}iuwmg is commect ragﬁeﬁ:ug Saimonella typhi
A) Presence of introzs in soms genss |
. B) Peptidoglycan is present as cell wall component
C) Growih is inhibited by streptomycin
D) Diverse in habitats

E) Initiator smino acids for potein synthesis is mathionine,

25)  Which one of the fSllowing / llewings are common characteristics for both Paramecium snd Amoeba

A) Aquatic B) Lack of cell wall
C) Oral groove is present D) Feod vacaoles and contractile vacuoles ave present

[
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(1)

A=
B-
-
B-
E-

1
l

i) Write the glemental cqresition of hemo AL

ui}nmufmm;
Ot of pyre

) You
jzhaled How czn you Henify gech satution BY

Answer all the questions.

A) i) “Amange the foliowing compounds 0 sscending ordeT pesording

mass.

i) Buwe

o KBy

ta their moleculer

(Jze the Jettere)
Fetty acids confeined
Cytosine
Fuoepholipids
Adenine
(Celluloss

ini:i.x-:],rl.giyacri

comtning 16, (00 pucienddes. ﬁm%mﬁnfi}ﬂmispizhmwes.
pyramidine bass ﬁ%ammwwﬂhmmﬁmymw

Ere provided oAm seletions of eraylRss,

two dHfiEroncast mmﬂuwuf-&lmmﬂ,ﬂm

“Raval Collzoe
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o b e
b) Whet are the protein subunits contained in the cytoskeieton?

<
:
:
i
?*
:

FEE e BES AR SR AE EEEBEs ANl A R IEE P Gk Bk S hb s el R RS RS e e r s RS S e s Fats e e e e e

FE s s EEs mEE Ere M rAmE A FAE FES I SSEAE AR A RS EmAs EEE SEs BER AR A m S S BEE AR RS S e

C) i) a) Name the elementzl cﬁmpﬂsjﬁaﬁ ufﬁmt'eiins, :
b) Whal: is the. typﬂ of bond fmﬁ m ﬂ:e pulj?pﬁ'pt[dc nha_]n?

SLmAEE mES EES S BAE SE pem EETEE SES BAE EEE wmm & = T
=ae w TEE EEE B --i-l-"li-i mEy R G AR RS SRR B B SR BE

I c.} What is the rerson for the amuhﬁtenc nature of the pﬁl}'p-“pndg chain?

TEARs dEm S R B AA B a e B EEaEs

rm - . Ee maw :
* hpami il RS RS BB St E RS Sia s R N R BEE e

S T . o D W T Ny |
b . : : =
WPI E‘nﬂﬁfiﬂ 3 g P Al o ? P 2003
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it) &) Write in four stsps of e test usad I jgentificalt ;

SEE.

b) What is the observation-of above test?
iii) 2) What is known as cocpsmﬂwty?
iv) 2) Nameafypsof molecule which acts as en slosteric activaior.
b) Briefly explain the activity of above molecule.

ed waE EmE EEmm EkE BAE E e

s samnEE maw

2 A}
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5’3 WEet i indicet: AEY A In ahove Gagreny?

=Y 0

AE mrs s e ome

- b:’ Eiﬂtw D8 1 JQECBIGEJML Z ‘ch(}fﬂ“?ﬁ:éﬁgl‘&:l ‘ Lm0
. ;" . e

.h}-

TEE EES en wmas g

¢)” Which .Ltbttm@@ represented I:ry }-. and Y.

;wi

-na ®

! '... . i i " Y +Iﬂ EE:E&ELESUJE?
d) How many times this cycle should take place to produce 03¢ SIUS0 _

.
P
B EE s w4 Aemw m

¢) How s it alled the reaction catalyzed by Rubisco f Calvin cycle?

- .

ii) How does Rubisco cﬁr_rmbxrfa for phﬁtﬂreﬁplr&ﬂﬂﬂ? Lo

oo as arh aon wwi &4 lr-l
- i) State two disadvantages of photorespiration

+25°C, telatively high OO
concsntration (e.5.0.4%) . B

E RE&'-UA'

25°C, atmospheric cc:-é =
mncautmﬁﬂn (0. 04%)

zwc,relanve:ymghcon A 7

. .
I il et [T R S .

annf;mtrﬂ:unn :
13"{3 &i:nosphmc C{:h
: ] cﬂnc-ﬂnﬁaﬁaﬂ (ﬂ 04%)
W X il .Z ' S nghtmwnsm
: s.) WL& is ;'Ei-. Iumtmr ﬂ.ctnr .m o }i in ﬂhﬂ"rﬂ afap b ,z‘-"-'?

) f Fre i i - 1 ‘" > " a . ! . i .
) . 5 ; % e N N
e TR R .
ssm wmF amE -
am pas smE .
e EEE EEE AR sEa Fdd BE S e saseES ENN BAS mEEE ! i
I i k ] L #
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B) i) What is known s celluler respiration?

m ama

FAREEL NN AR AR A e R EEE AR ke sk EE E

ERRREEE A W NN N R e =ae

) State the conditions nesded to enter end products of glycolysis to mitochondria?

Y
TREEAE S EE R R ARG S Fae pea oasa

A mua -

® sEE R s

sem ses L T e, e B R T T b . 4 E

" EAE e FaE oma

iif) How many ATP molecules are produced by oxidative phosphoryletion in
respiration? '

PR AEE SEH mae saw

b) What is the typs of fermentatio

n {zkes place in yeast?

mEs s as mw E

c) How does the above process contributa o
for glycolysis?

EE RN hbe e EEN S e Bk Bae aam s

Eed A mmE REE B wma mEs

v) State the final hydro
for photesynthesis?

Bmed sms s m e ama e L R A (A aass wa

aacceptor in the type of fermentation which

mas s aE ke

T = e R BE AR LN e N AR A WA S AR e s

vi) a) - What is Imown as respiratory quotient?

e b R LR BT T T e S e e

SAFr A g mEw EAES AR RS AR e e e b e mEOEEE S e GaE AR BEA A maE

b) What i the reason that yespitatory quotient becomes 0.5 iz protein?

BEw BEaw BEE b REEow w

dEe s aE

celluler

prevent the limitation of NAD' nesdag

doss not contributa

L T

5 T e mam semoa Ty LR L T " maw R R SR SRR e e Rl mna [ N |
. =
i R L A R L T T T THR FAEBES AR N s e s e . e
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BELE aas she dag s LEL ]
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arE mma

rrw ome

iif) 2) Write the nsme of the Sri Lankan igopard according to the binomial nomenclature.

b) Stete the phylogenstic species concept.

£
:
it
3
)
8
ss;.
B
£
E

I T R T I )

44 EEE Sim Bra smr ram e

L]

b) Statethe modss of mutrition sea.n in kingdom Protistz giving example for eich

- - - &= . = | . - - : E
: - |
S v) Write thet}*pes ufcali wzﬂ mmpanents seen in fnl!owmg ergamm
) Gefrdnm 4

: 9 N B . -. . ---..--I- --“-......“,._F;.,,.,,,..,,‘:__,“,*;___‘
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Part B — Essay

o Answer all the questions
Give clear labelled dlagrams wheve necessary
(Each gquestion carries 150 marks)

!

i

| | : |

3, &) Explain the process of photosynthesis waking plece through both photosystems. 'E
b) Dsscribe the siep of serobic celtulsr respiration which uses moleculer OXygel ..?

| |

4. Write short notes on following
|

g) RNA :

b) Mitochondria %

c) Protocell :E

E

|

I ——— _1__._‘.




